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Focus on Children  
English and maths quiz

Maths
1 One hundred and fifty people pay £1.50 each for tickets to a school’s charity fun 

day. Altogether, how much money has been paid for tickets?

A £150
B £225
C £175
D £250

Answer: 

2 Two hundred children from ten clubs enter a national basketball competition. What 
is the mean number of children in each club?

A 15
B 10
C 20
D 25

Answer: 

3 Eighty children attend a nursery. Twenty per cent of them attend full time. 

 How many children attend full time?

A 10
B 16
C 20
D 14

Answer: 

4 An instruction for mixing baby food states that you need to use 4 fl oz (115 ml) of 
boiled and cooled water. Which of these statements gives the closest estimate of 
the relationship between fl oz and ml?

A 1 fl oz is approximately 35 ml
B 1 fl oz is approximately 25 ml
C 1 fl oz is approximately 32 ml
D 1 fl oz is approximately 30 ml

Answer: 
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English
5 This question is based on the advertisement below.

Toddler Trikes – New Range Now In
We believe you’re guaranteed more smiles this holiday with our new range of 
action trikes. Toddler Trikes were recently voted ‘Best Buy’ for safety, sturdy 
construction, design features and best of all for fun. Phone now to get our new 
24-page catalogue complete with details of your nearest stockist.

 Which is an opinion?

A new 24-page catalogue
B new range of action trikes
C you’re guaranteed more smiles
D voted ‘Best Buy’

Answer: 

6 Read the information below taken from an information sheet about hidden 
ingredients in food, then answer the question.

How much salt?
Many food products contain far too much salt for children. The maximum daily 
intake is two grams for children aged one to three years and three grams for 
children aged four to six years. Anything that has sodium in its name contains 
salt, and you need to multiply the sodium amount by 2.5 to find the actual salt 
level.

 What is the maximum daily intake of salt for a child age five?

A one gram
B two grams
C three grams
D 2.5 grams

Answer: 

7 Which of the following sentences is not punctuated correctly?

A You can still go out and enjoy yourself.
B Do you need more sleep.
C You should avoid alcohol.
D Make sure eggs are cooked thoroughly.

Answer: 
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8 Read the information below taken from a leaflet about Child Tax Credit and answer 
the question.

What is Child Tax Credit?
Child Tax Credit is a payment to support families with children.

You can claim Child Tax Credit if you are responsible for one child (or young 
person) or more. You do not have to be working to claim.

Child Tax Credit will provide support for:

a) a child until 1 September following his or her 16th birthday; or
b) a young person aged 16 to 18 who:

• is in full-time education, up to and including A-levels or NVQ level 3
• has left full-time education but does not have a job or a training place 

and has registered with the Connexions service
• is not claiming Income Support or Tax Credits in his or her own right
• is not serving a custodial sentence of four months or more imposed by 

a court.

 Who claims and receives Child Tax Credit?

A the parent/s or carer/s of the child or young person
B a young person aged 16 to 18
C a young person registered with the Connexions service
D someone who has left full-time education

Answer: 

9 Read the information below and answer the question beneath it.

Starting at nursery
By the time nursery comes round at age three, children are ready for 
imaginative games.

Boys and girls may choose quiet different toys by this age, but both will enjoy 
art and craft activities and miniature world toys, as well as simple construction 
sets and first board games.

 Which suggestion corrects the spelling error?

A On line 1 replace time with thyme
B On line 1 replace are with our
C On line 2 replace quiet with quite
D On line 3 replace board with bored

Answer: 


